Potenzen von (a+bh)

(ath)’ = 1

(a+b)' = 1a + 1b

(atb) = 1a? + | 2ab | + 1b*

(ath)® = 1a° + 3a’h + 3ab? + 1b°

(ath)* = 1a* + 4a’b + | 6ah? | + 4ab’ + 1b*

(ath)® = 1a° + 5a'b + | 10a%?| + |10a%*| + 5ab* + 1b°

(ath)® = 1a° + 6a’b + | 15a%?*| + [20a%%%| + |[15a%*| + 6ab’ + 1b°

(ath) = 1a’ + 7a’b + | 21a%*| + |[35a%°| + |[35a%*| + [21a%°| + 7ab® + 1b’

(ath)® = 1a + 8a'b + | 28a%?| + |56a’| + |[70a%'| + |[56a’d°| + |[28a%°| + 8ab’ + 16
(ath)’ = 18’ + 9a’b + | 36a’b?| + |84a*| + [126a®Y + [126a'Y + |84a’®®| + |36a’d’| + 9ab? + 1b°
(ath)® = [ 1a" + | 10a° | + |45a%*| + [120a'bY + [210a%f + @I + |210a'vY + [120a°®| + | 45a%°| + 10ab’ | + 1b"




Potenzen von (a-b)

(ab) = 1

(ab)' = 1a - 1b

(ab)? = 1a? - 2ab + 1b?

(ab) = 1a° - 3a’h + 3ab? - 1b°

(ab)* = 1a* - 4a’b + | 6ah?| = 4ab’ + 1b*

(ab)® = 1a° - 5a'b + | 10a°?| = |10a%*| + 5ab* - 1b°

(ab) = 1a° - 6a’b + | 15a%?*| = [20a%%| + [15a%*| = 6ab’ + 1b°

(ab) = 1a’ - 7a’b + | 21a%*| = |[35a%°*| + |[35a%*| = |[21a%°| + 7ab® - 1b’

(ab)? = 1a - 8a'b + | 28a%?| = |56a’| + |[70a'| = |[56ab°| + |[28a%°| = 8ab’ + 16
(ab) = 18’ - 9a’b + |36a'b?| = |84a*| + [126a®| = [126a'Y + |84a’®°| = |36a’d’| + 9ab? - 1b°
(ab)® = [ 1a" = | 108 | + |45a%*| = [120a0Y + [210a°b] = @I + |210a'vY = [120a%| + |[45a%B°| = 10ab’ | + 1b"




